Answer on Question #61377 — Math — Calculus

Question
9 Differentiate with respect to x: f(x) = (ax® + bx)
3a-b
ax2+b
3x2+1

3ax2+b
Solution

df—d( 3+b —d( 3)+d(b)— d(3)+bd ) =3ax*+b
dx — dx ax x)—-dx ax Ix x —-adx X dx(x = 3ax .

Answer: 3ax? + b.
Question

10 Differentiate y = Vx2(2x — x2) with respect to x
y=10x233-8x533

y=10x233+8x533

y=5x233-4x533

y=5x233+4x533

Solution
3 2 5 8
y = Yx2(2x — x?) = x3(2x — x%) = 2x3 — x3
dy_d(zg g)_2d<g> d(§>_2<5>§ 8%_10% 8%
dx  dx o= dx x dx )= 3 x 3x 3 X 3x

5

2
Answer :%xE - §x§.
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